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1 HAE 2023.06.01 kEcts Stm oM AN AN =5t 50,000 1 Bl laed
2 A& 2023.06.02 kE2ts AXISoA oJHHA 4 F5t 50,000 1 Pl 223
3 HAE 2023.06.02 kZct< OlEo2 HUA =4 =5t 50,000 1 Bl laed
4 A& 2023.06.08 kE2ts ADISE230Es ZHE 522 =0t 50,000 1 Pl 223
5 HAE 2023.06.15 kZct< ANAAN o Z2/AAE Fot 50,000 1 Bl laed
6 A& 2023.06.20 kE2ts 22 HEOIAL ALY 2F AF 60,000 1 = jaed
7 HAE 2023.06.28 AES Sgstaste g5 3o Q& 253,000 14 Bl Al Z
8 A& 2023.06.27 A5 Al AEO Y 17,500 14 = Mg
9 HAE 2023.06.27 Ot MERIXI AEQ Y 25,000 14 Bl Mg
10 A& 2023.06.27 wEXZ s81538 AEQ Y 46,000 14 JtE Pt
11 2AE 2023.06.27 MWCHOHE AEO Y 67,800 14 Bl Mg
12 AR E 2023.06.12 CCHED| = JIXE3|o & 81,000 4 EIy= pSpr=t
13 AR =F 2023.06.21 253 Sx2) R0 Q& 53,000 3 Bl Mg
AR E 2023.06.22 CCHED| = XA otk 63,000 3 = B
AR =F 2023.06.27 S A AEO Y 48,000 14 Bl Mg
AR E 2023.06.27 ZC ASo 48,000 14 = Mg
ER2E 2023.06.19 snltE A=H R AP 2k 2k 83,680 7 Bl SA2A
ER2E 2023.06.01 SHE AEINEHE 2SO OHx 19,000 2 J= B k=
ER2E 2023.06.20 HIEXE(R246H) S22 HALE Q& 132,000 8 Bl Mg
ELR2E 2023.06.23 SHHERHZ(AES) HSAIR REMEEO QF 29,000 2 = B k=
ER2E 2023.06.26 Ol EJHH(AEA) 2T FIR2AM R 12,900 2 = Mg
ER2E 2023.06.29 cetEdE(S3E) S22, J|EHR2e A2F Q& 104,500 5 = B
N2 nNSE 2023.03.20 QOI0IE A=EF Qe d2H Hi L AR JRE9 120,000 6 Bl SA2A
Aens2 & 2023.06. 19 Fegalg A2 EE FEAE ZASTE A A2E 9| 129,000 7 = B k=
N2 nSE 2023.06.21 b.bEct2Yl DI X2 AN =Y 22 3|9 16,600 4 Bl Mg
NEusSEE 2023.06.21 AES D28 Ns AMGHA 2 2e 59 80,000 4 = B
N2 nNSE 2023.06.22 SO, £330l ANSWEE 2SS TALE AT 29 583,200 30 = Mg
2ns2 & 2023.06.30 AES N NN =] 33,000 3 = B k=
J|2H R & 2023.06.09 22240l ItHAE 2 =20 L AICH =SS 3 L 24359 117,000 6 Bl SA2A
JEHAEE 2023.06.01 LU XE =Hl AR JI2HHl A28 2 63,000 4 Bl B
J|2H R & 2023.06.13 DA Sest )| 8Os AR239 40,100 5 Bl Mg
JEHAEE 2023.06.14 OtH el &2l JI2HHl 28l & AP &E 76,000 6 Bl B
J|2HR S E 2023.06.20 OfSHRl 91 = S SISs st G289l 65,000 4 = XMz
IEHAEE 2023.06.29 A 2 TH BE UACN 25 A& s ZA 32,000 2 = B
2,748,280




